History of Philosophy: Renaissance through Enlightenment; 

Worksheet on Francis Bacon and Galileo Galilei
Francis Bacon (1561-1626), The New Organon (1620) (in Ariew and Watkins, Modern Philosophy, pp. 4-7)
1. Bacon was one of the first philosophers to develop the epistemological view known as “instrumentalism”.  How does Bacon understand human knowledge?  What is its relation to human power?  (Sections 1-3.)
(A “syllogism”, mentioned in #14, is an argument with two premises and a conclusion, as studied by Aristotle.  An example of a syllogism is “All human beings are animals; all animals are mortal; therefore all human beings are mortal.”)
2. How does Bacon characterize the old, Aristotelian scientific method?  What does Bacon think is wrong with it?  What’s Bacon’s alternative?  (##11-37, especially #19)
(Lest Bacon sound too modern, note that his term “experiment” [e.g., in #22] really just means “sense-experience.”  He’s definitely not talking about the highly controlled laboratory procedures characteristic of modern experimental science.) 

3. What does Bacon (starting in #38) mean by “idols”?  What, in your own words, are the four idols?
* One good topic for your first paper would be to compare Montaigne’s skepticism with Bacon’s rejection of the four idols.  What do they both reject?  Does Bacon reject anything that Montaigne doesn’t?  

Galileo Galilei, The Assayer (1623) (in Ariew and Watkins, Modern Philosophy, pp. 8-11)
4. In this essay, Galileo makes, perhaps for the first time in the history of philosophy, a clear distinction between what he calls (a) the primary and real qualities of a material or corporeal body or substance, and (b) qualities (tastes, odors, colors, tickles, and heat) that reside exclusively in our sensing, perceiving body.  This distinction was to be accepted by both Descartes (as the difference between the properties of extended substance and sensations) and Locke (as the difference between primary and secondary qualities).  What, in your own words, is this distinction?  What properties belong essentially to (a)?  Do (a) and (b) have anything in common?  What argument does he make for this conclusion?  (pp. 9-10)
5. What does Galileo mean when he says that motion (of particles) is the “cause” of heat?  How does he understand “heat”?  Why is heat (as Galileo understands it) different from the motion of particles?  (pp. 10-11)

* Another good topic for your first paper would be to compare Galileo’s and Descartes’ views of perception with Aristotle’s on the issue of the distinction between primary and secondary qualities.  Does Aristotle have a version of this distinction, or is it entirely absent from his views?

Galileo Galilei (1564-1642), Dialogues Concerning the Two Chief World Systems (1632) (in course packet, pp. 71-81)

This is the writing of Galileo’s that ended with his being tried and convicted by the Roman Inquisition in 1633 for advancing Copernicus’ heliocentric views, and sentenced to permanent house arrest.  These dialogues feature three characters: Simplicio the “simple-minded” medieval Aristotelian (and Galileo’s whipping-boy), Salviati the modern Copernican (and Galileo’s mouthpiece), and Sagredo the neutral observer or moderator (the voice of reason and sound judgment).  On pp. 71f, Simplicio rehearses Aristotle’s familiar arguments for why the earth must remain unmoving at the center of the universe.  (The primum mobile, mentioned on p. 71, is the Latin translation of Aristotle’s “first motion”, i.e., the motion of the fixed stars.)
6. On pp. 72-74, Salviati first rehearses an Aristotelian/Ptolemaic argument for why the earth must not be moving.  What’s the argument, taken from observing falling bodies?  (The two examples of the cannonballs serve to make the same point, as do the examples of clouds, birds, and the lack of a very strong and fast east wind.)  

7. On pp. 74f, Salviati then rehearses a second Aristotelian/Ptolemaic argument for why the earth must not be moving.  What is this one?

8. On pp. 76f, Salviati presents a counter-argument to the Aristotelian/Ptolemaic argument mentioned in question 6.  His conclusion is that in fact our senses don’t tell us that a freely falling stone dropped from a tower goes along a straight line, perpendicular to the earth’s surface and directed toward the center of the earth.  What’s his argument here?  (Note that petitio principii, mentioned on p. 77, is Latin for the logical fallacy, “paralogism”, or error, of “begging the question”, i.e., illegitimately assuming the conclusion of an argument among its premises, or assumptions.)
9. What’s Salviati’s (i.e., Galileo’s) alternative picture of what happens when a stone is dropped from a tower (pp. 78-81)?  Does the stone really fall in a straight line?  Why does it appear to do so, i.e., why does it fall right at the foot of the tower, and not far away?  (In the diagram, the curve starting at B, going through I, and continuing in a circle is the surface of the earth.  A is the center of the earth.  C is the top of the tower when the stone is dropped; F, G, H, and L are the top of the tower as the stone falls; and D is the top of the tower when the stone hits the ground at I.  

10. Galileo, ignorant of Kepler’s work when he wrote the Dialogues, still makes a traditional assumption about motion.  Although he rejects Aristotle’s view that falling bodies move in a straight line, he still retains one Aristotelian assumption that Kepler had already rejected.  What is this? 
